N° 13 diz : x10 x100 x1000

3,6 x10 =
2,5 x 10 =
0,21 x 10 =
0,09 x 10  =
32,4 x 10  =
30 x 10 =
8,27 x 100 =
0,064 x 100 =
3,6 x 100 =
4,09 x 100 =
2,00 x 100 = 
7,45 x 100 =
0,40 x 10  =
1,6 x 100 =
1,8 x 10 =
0, 24 x 100 = 
0,056 x100 =
0,1x 10 =
54 = 5,4 x ……
21 = 0,21 x ……
1,2 = 0,12 x ….
15 = 0,015 x…
240 = 2,4 x……
7,2 = 0,72 x….
42 = 10 x ……
28 = 100 x…..
3,5 = 10 x……
48 =1000 x…..
630 = 10 x ……
10,0 = 10 x…….





RAPIDITE : POINTS :…………..…/10
NOMBRE TOTAL DE REPONSES EXACTES :
POINTS : ……………./20
TOTAL :
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